Tuesdays with Morrie 46-58 review – Barringer
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1. Use context clues to determine the meaning of “atrophied.”
2. Look at page 47 in the book.  What can you infer about Morrie based on his theory about being a baby again?
[bookmark: _GoBack]3. As Mitch has started to visit Morrie each Tuesday, what are some changes you’ve seen in him?  Consider his job, his devotion to work, his ability to feel empathy, and his focus on money. 
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Connie opened the door and let me in. Morrie was in his wheelchair
by the kitchen table, wearing a loose cotton shirt and even looser
black sweatpants. They were loose because his legs had atrophied
beyond normal clothing size-you could get two hands around his
thighs and have your fingers touch. Had he been able to stand, he'd
have been no more than five feet tall, and he'd probably have fit
into a sixth grader's jeans.




